### **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 11 - Annandale North
Valid Votes	5,470
Positions to be Filled	4
Quota	1,095

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Lisa COURTS	Scottish Liberal Democrats		257
Doug FAIRBAIRN	Scottish Conservative and Unionist		1,573
Gail MACGREGOR	Scottish Conservative and Unionist		1,407
Stephen THOMPSON	Scottish National Party (SNP)		1,308
Adam WILSON	Scottish Labour Party		925
		Total	5,470

Candidate Doug FAIRBAIRN Elected with 1,573 votes, being in excess of the quota of 1,095 Candidate Gail MACGREGOR Elected with 1,407 votes, being in excess of the quota of 1,095 Candidate Stephen THOMPSON Elected with 1,308 votes, being in excess of the quota of 1,095

# **Transfers Report**

This report contains the transfers results.

### Stage 2 - Surplus of Doug FAIRBAIRN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lisa COURTS	327	0.30387	99.36549
Transfer to Doug FAIRBAIRN	0	0.00000	0.00000
Transfer to Gail MACGREGOR	0	0.00000	0.00000
Transfer to Stephen THOMPSON	0	0.00000	0.00000
Transfer to Adam WILSON	243	0.30387	73.84041
Value of non-transferable ballot papers			304.79410
	Total		478.00000

N.B. The figures may not add due to rounding.

# **Transfers Report**

This report contains the transfers results.

#### Stage 3 - Surplus of Gail MACGREGOR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lisa COURTS	370	0.22174	82.04380
Transfer to Doug FAIRBAIRN	0	0.00000	0.00000
Transfer to Gail MACGREGOR	0	0.00000	0.00000
Transfer to Stephen THOMPSON	0	0.00000	0.00000
Transfer to Adam WILSON	257	0.22174	56.98718
Value of non-transferable ballot papers			172.96902
	Total		312.00000

N.B. The figures may not add due to rounding.

# **Transfers Report**

This report contains the transfers results.

#### Stage 4 - Surplus of Stephen THOMPSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lisa COURTS	384	0.16284	62.53056
Transfer to Doug FAIRBAIRN	0	0.00000	0.00000
Transfer to Gail MACGREGOR	0	0.00000	0.00000
Transfer to Stephen THOMPSON	0	0.00000	0.00000
Transfer to Adam WILSON	437	0.16284	71.16108
Value of non-transferable ballot papers			79.30836
	Total		213.00000

N.B. The figures may not add due to rounding.